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In the given circuit, it is observed that the cur-
rent [ is independent of the value of the resistance Rs.
Then the resistance values must satisfy (2001)

Rs

(A) !EIR‘jﬁ:h = RyR, Ry

B) m+ 7 = mom + o
€ RiRy=RyRy = T
(D) R\Ry = RyR,

e resistance of the circuit depends on Ry
o mﬁttﬂk‘ bridge formed by Ry. Ra. Ry, Ry and
,h““"“ wed. Thus. the current becomes independent
& | when the bridge is balanced ie.. Ry/Ry =
J R 0“" wight be tedious but worth to find the cur-
"~ corms of R R R3. Ry. R; and Rg and explic-
m- the independence of 7 in the balanced condi-
Al g;?rp Use Kirchhoff's law in the three loops and
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